


Name : Date:
Subject: Mathematics ,
Topic: Finding the Missing Symbol

Directions: Chose the correct symbol to
make each number sentence correct:

.7 3 =10 . 12 7=5

s b 8 =7 8 30 20=50
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9 65 60=5

5 H 6=20 10. 30 58 = &3
Directions: Chose the correct symbol to make 1

each number sentence correct to solve the word
problems.

|l Andrew’s family camped in the Hoosier National
Forest. They hiked the I5 miles Two Lakes Loop and
the [2 miles Birdseye’s trail. How many miles did they

hike?
5 2= 27 !

2. There were 48 children on the playground. Then 34
children went inside. How many children were left on the

playground?
ug 34 =4




